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EMP(SSN, Name, Salary,DNo)
DEPT(DNumber, DName)
Q1: Select DName, COUNT(*)
From DEPT, EMPLOYEE
Where DNumber = DNO and
Salary >40000
Group by DNO
Having COUNT(*) >5
Select DName, COUNT(*)
From DEPT, EMP
Where DNumber = DNO and
Salary >40000 and
DNo in (Select DNO
From EMP
Group by DNO
Having COUNT(*) >5)
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EMP(SSN, Name, Salary,DNo)
DEPT(DNumber, DName)
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public void B_MethodiSQLiteDatabase db, integer Number, String Name,
integer Price)

import android.content.Context;
import android.database.sglite.SQLiteDatabase;
import android.database.sqlite.SQLiteOpenHelper;
public class SQLite extends SQLiteOpenHelper {
private static final String DATABASE_NAME = "Price.db";
private static final int DATABASE_VERSION = 1;
private SQLiteDatabase db;
public SQLite(Context context) {
super(context, DATABASE_NAME, null, DATABASE_VERSION);
db = this.getWritableDatabase();
}
public void A_Method(SQLiteDatabase db) {
String DATABASE_CREATE_TABLE =
“create table Price_Table("
+ "Number INTEGER PRIMARY KEY,"
+ "Name TEXT,"
+ "Price INTEGER"
+)
db.execSQL(DATABASE_CREATE_TABLE):
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<T1, start>
<Tl, A, 2, 6>
<TI1,B, 1, 0>
<T1, commit>
<T2, starts>
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<T2,C, 8, 12>
<checkpoint record>
<T2,A, 6, 10>
<T3, starts>
<T3,B,0, 15>
<T2, commit>
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